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Question Number : 1 Question Id : 54062622559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the CORRECT alternative from the given ones that will complete the series.

XZ,SU, NP, IK, DF, ?
Options :
1. * YB
2. % AY
3. % XA
4. ¥ YA

Question Number : 1 Question Id : 54062622559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T 3IehH o T B, R Q e Ue g 8| fou Y fased & a8 el fasey gMg, S orgehd &1 qR1 $e |

XZ, SU, NP, IK, DF, ?
Options :
1. * YB
2. % AY
3. % XA
4. ¥ YA

Question Number : 2 Question Id : 54062622560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that WRONG term from the given alternatives.

TRV, PNR, LIN, HGJ, DBF
Options :
1. * LIN
2. % DBF
3. ¥ HGJ
4. % PNR

Question Number : 2 Question Id : 54062622560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3 o T ], fored 9 U U 7Tad ¢ | 3 7Y fadenl o 9 39 erd ug &1 gu|

TRV, PNR, LIN, HGJ, DBF
Options :
1. ®* LIN
2. % DBF
3. ¥ HGJ



4. * PNR

Question Number : 3 Question Id : 54062622561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four letter pairs are given. The letters on left side of (—) is related to the letters on the right side of () with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. ®* JG-HE
2. % TX-RV
3. % PM-NK
4. ¥ SE - QG

Question Number : 3 Question Id : 54062622561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # JG-HE

2. % TX-RV

3. % PM - NK

4.¢ SE - QG

Question Number : 4 Question Id : 54062622562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

MT :PW :: UR:?
Options :
1. ¥ XU
2. % XV



3. ®# RO
4. % YR

Question Number : 4 Question Id : 54062622562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad uy & fiiu e faweal & § Tefda sieri &) gfu|

MT :PW :: UR:?
Options :
1. ¥ XU
2. % XV
3. * RO
4. % YR

Question Number : 5 Question Id : 54062622563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

NJIM : QNNG :: XWSE : ?
Options :

1. % ABXY

2. % BBXX

3. % BAXX

4. ¥ AAXY

Question Number : 5 Question Id : 54062622563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad uy & fau e fawenl & § Hefda sieri &1 gfu|

NJIM : QNNG :: XWSE : ?



Options :

1. # ABXY
2. % BBXX
3. % BAXX
4. ¥ AAXY

Question Number : 6 Question Id : 54062622564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘TEA’ is written as ‘100°, ‘FAN’ is written as ‘84’. What is the code for ‘CAKE’ in that code language?
Options :

1. % 100

2.9 165

3. % 200

4. % 145

Question Number : 6 Question Id : 54062622564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fIRRI BIS YW H, “TEA> BT <100’ fRaT ST &, “FAN” BT “84° Toran ST ¢ | ST TS UTNT H CAKE’ 1 HIs 1 52
Options :

1. # 100

2. ¥ 165

3. % 200

4. % 145

Question Number : 7 Question Id : 54062622565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘Mango is blue’ is written as ‘$ # %, ‘Blue and red’ is written as ‘# ~ @’, ‘Book is red’ is written as ‘@ x =". What is
the code for ‘Mango and Book’ in that code language?

Options :



1. % §=x
2. % 4+ @
3.¥ 5=
4.% @$=

Question Number : 7 Question Id : 54062622565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁﬁmm ‘J-HEITﬁ, ‘Mango is blue’ Cal ‘S#x ﬁ”l"@T\_rlTaT%, ‘Blue and red’ bl “# =+ @’ WT\_SHHT%, ‘Book is red’ 1 ‘@ x= foraT Srdr
%I I B HwT | ‘Mango and Book’ WWW%Q

Options :

. % §=x

2. % #+ @

3. ¥ §+=

4. % @$=

Question Number : 8 Question Id : 54062622566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five persons A, B, C, D and E sit in a row facing towards the north (not necessarily in the same order). Two persons sit between C and D. B is
not a neighbour of A. One person sits between A and E. D sits to the immediate left of A. Who sits in the middle of the row?

Options :
1. * B
2.% C
3. D
4. ¥ E

Question Number : 8 Question Id : 54062622566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.* B
2. % C
3.%D
4. ¥ E

Question Number : 9 Question Id : 54062622567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A team of six members is to be selected among nine members M1, M2, M3, M4, M5, M6, M7, M8 and M9. M2 and M7 have to be selected
together. M4 and M8 cannot be selected together. Either M5 or M6 has to be selected with M1. Neither M3 nor M4 can be selected with M9.
Who among the following members can be selected?

Options :

1. % M2, M3, M4, M6, M8
2. % MI1, M2, M3, M7, M8
3. ¥ M1, M3, M4, M6, M7
4. ¥ M2, M5, M6, M7, M9

Question Number : 9 Question Id : 54062622567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % M2, M3, M4, M6, M8

2. % M1, M2, M3, M7, M8

3. % M1, M3, M4, M6, M7

4. ¥ M2, M5, M6, M7, M9

Question Number : 10 Question Id : 54062622568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some A are B.
II. All B are C.

Conclusions:
I. Some C are A.
II. No C is B.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. % Both conclusion I and II follow

4. % Neither conclusion follows

Question Number : 10 Question Id : 54062622568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ $Had [T5HY [ 3IERU Hdl §
2. % Had fHY 11 ST BT &
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4. % P1g Wl FpY SR 98] Rl §

Question Number : 11 Question Id : 54062622569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I.NoPisQ.

II. Some Q are R.
III. All R are S.

Conclusions:

I. Some R are not P.
II. NoQis S.

III. Some S are P.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusion I and III follow

4. % All conclusions follow

Question Number : 11 Question Id : 54062622569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feu T Uy H 8 U 3R 3% 918 31 HUHI IR ARG & 56y 3T T4 § 1 3T T H2= & 981 A, 918 S8 Qg 1 9
@rfﬂwﬁmﬁﬁwﬁuﬁr@wfﬁnﬁ%ﬁﬁﬁmwﬁqﬁw faQ T HY & SMYR R gfaaaTd g

DHY:

L &5t p, QTR I
I. $3 Q,REI

L et R, S B



L PSR, P |
1L 315 Q. s AT 71

.$SS, PRI
Options :

1. ¢ $Had [T5HY [ 3IERU Hal §

2. % Had fSHY 11 ST Hdl &

3. % G fFShY 1 T 1T SRR B &
4. % ot fFreepef S ERUT vl §

Question Number : 12 Question Id : 54062622570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

74, 76, 80, 86, ?
Options :

1. % 92

2. % 96

3. %90

4. ¥ 94

Question Number : 12 Question Id : 54062622570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad wer & <1 7 e & 9 g 8fe 1d S|

74,76, 80, 86, ?
Options :

1. % 92

2. % 96

3. % 90




4. % 94

Question Number : 13 Question Id : 54062622571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

31, 28,37,56,41,112,7?
Options :

1. ¥ 43

2. % 224

3. % 82

4. % 47

Question Number : 13 Question Id : 54062622571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiad oy & <t 7S Yae & I qu 3f I Hifor|

31,28,37,56,41, 112, 7?
Options :

1. ¥ 43

2. % 224

3. % 82

4. = 47

Question Number : 14 Question Id : 54062622572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



How many teachers are NOT player?

Players

Doctor

Options :
1.¥ 116
2. % 69
3. % 47
4. % 128

Question Number : 14 Question Id : 54062622572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20

6Y

Options :
1.¥ 116



2. % 69
3. % 47
4. % 128

Question Number : 15 Question Id : 54062622573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rohan starts walking towards the north and walks 3 metre. He turns to the right and walks 6 metre. Finally, he turns to the left and walks 5 metre.
How far is he now from the starting point?

Options :

1. * 13 metre
2. ¥ 10 metre
3. % 15 metre

4. ¥ 6 metre

Question Number : 15 Question Id : 54062622573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 37
2. ¢ 10 HIeR
3. % 15HIER
4. % ¢HIER

Question Number : 16 Question Id : 54062622574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ram is facing towards the north. He rotates 120° in the clockwise direction. He rotates 205° in the anti-clockwise direction. He rotates 195° in

the clockwise direction. He rotates 85° in the anti-clockwise direction. He rotates 275° in the clockwise direction. Finally, he rotates 210° in the
anti-clockwise. In which direction is he facing now?



Options :

1. # West

2. ¥ East

3. % North-East
4. # South

Question Number : 16 Question Id : 54062622574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gigy
2. 7Jd

3. % IW-Jd
4. % cfgror

Question Number : 17 Question Id : 54062622575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.
Options :

2>

1. ¥




"\
s

Question Number : 17 Question Id : 54062622575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefad vy , faw 7 fawedl o 9 favw siefa &1 gl

Options :

>

3. %

"\
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Question Number : 18 Question Id : 54062622576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given

4. %

alternatives.

| |
| [« || k6| 2
| =
Options :

][9] [

3. %




<>

4. <

Question Number : 18 Question Id : 54062622576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

=g
=g
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Question Number : 19 Question Id : 54062622577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Which answer figure will complete the pattern in the question figure?

B
WL J\N




2

N

3.¢

N ml

.

4.

Question Number : 19 Question Id : 54062622577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fled | 3ca¥ HTFHiA T Al & FawT & @ FE07?
n

2 Bl
WL J\N
V2

Options :
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(1 =

5

N

3.¢

N/ ml/

o

4.

Question Number : 20 Question Id : 54062622578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

:

A

B
Options :
1. # §
2. %
3. %




Question Number : 20 Question Id : 54062622578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ife Ta 90T T AB Y@M I W@ AT, a6 & 7% 3cal 3Mepiadl H ¥ HiaT dF 3pia T2 Hpfa & F@@r
sfafas grefr?

A
: B
Options :
1. %
2. %
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Question Number : 21 Question Id
Orientation : Vertical

: 54062622579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
‘Lingaraj Temple’ is situated in which state of India?

Options :

1. # Karnataka
2. ¥ QOdisha

3. % West Bengal
4. #® Tamil Nadu

Question Number : 21 Question Id
Orientation : Vertical

: 54062622579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

fiRTe AfeR WRd & forg Tsu A fRya 82

Options :

1. % PlcH

2. ¢ 3fifgam

3. % Ui §

4. % g

Question Number : 22 Question Id
Orientation : Vertical

: 54062622580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which of the following won the Miss World 2017 pageant?

Options :

1. # Sushmita Sen

2. # Lara Dutta

3. % Manushi Chhillar

4. % Nicole Faria

Question Number : 22 Question Id

: 54062622580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafafea o 9 feam i 9@ 2017 wfoafirar Sl
Options :

1. ® gydra=

2. % ART qdl

3. ¢ OIS fo R

4. % (PpId HwIRAr

Question Number : 23 Question Id : 54062622581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the size of Rs. 2000 note of Mahatma Gandhi (New) series?
Options :

1. ¥ 60 mm x 160 mm

2. % 66 mm x 166 mm

3. % 66 mm x 160 mm

4. % 60 mm x 166 mm

Question Number : 23 Question Id : 54062622581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2000 ST & ARTAT el (Ffhy sRaett & i BT MHR 1 32
Options :

1. ® 60 TH.UH. x 160 TH.UH.

2.9 66 THUH. x 166 TH.UH.

3. ¥ 66 THUH. x 160 TH.UH.

4. % 60 UHUH. x 166 TH.UH.

Question Number : 24 Question Id : 54062622582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The average daily balance that a bank is required to maintain with the Reserve Bank of India as a share of such per unit of its NDTL that the
Reserve Bank may notify from time in the Gazette of India, is called as

Options :

1. ¥ Cash reserve ratio

2. # Corridor

3. % Statutory liquidity ratio
4. % Bank rate

Question Number : 24 Question Id : 54062622582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1818 U, ! ReR) Ot dobl &Y RoTd dp H Tehd] AW & =0 | 1@-1 il & o Rord 9 R THT 0T IR HRd & Jo03 |
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Options :

1. ¢ APhal SRI& Srurd

2. % BIRSR

3. % Giafy Iem Y srurd

4. % 9B R

Question Number : 25 Question Id : 54062622583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The human heart beats about per minute in an adult person.
Options :

1. % 110-120

2. % 90-100

3. % 55-65

4.9 7080

Question Number : 25 Question Id : 54062622583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

forat R AT 1 gad T Be T Ty IR YSHal gl
Options :

1. % 110-120

2. %90-100

3. % 55-65

4.+ 7080

Question Number : 26 Question Id : 54062622584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following proposed that structure of an atom is similar to that of Christmas pudding?
Options :

1. # J. Chadwick

2. # Neil Bohr

3. # Ernest Rutherford

4. ¥ ].J. Thomson

Question Number : 26 Question Id : 54062622584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiyd o 9 forem a8 URaa g &1 IRAT[SH &1 TR foh oy &b &1 avE §?
Options :

1. % S JSfdd

2. % HF IR

3. % IR IEBIS

4. SIS U1

Question Number : 27 Question Id : 54062622585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of position of Object — Position of image is CORRECT regarding concave mirror?



I. At infinity — At F
II. AtF-AtC

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 27 Question Id : 54062622585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g &1 fufa &1 Fofafad & @ &9 91 g - sfaad guul & Jay H ufafars ot fufa w82

L3AdWR-FWR
LFR-CWR
Options :

1. Had |

2. % Had Il

3. % [ UGl
4. % qEIIATR I

Question Number : 28 Question Id : 54062622586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a tributary of Ganga?
Options :

1. ¥ Lohit

2. # Ghaghara

3. % Betwa

4. % Son



Question Number : 28 Question Id : 54062622586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafiRed # 3 o9 I 7 &t T Yo 14! T8 o
Options :

1. ¢ lifgd

2. % YR

3. % qqdl

4. % GH

Question Number : 29 Question Id : 54062622587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following tree is found in tropical evergreen forests in India?

I. Ebony
II. Mahogany

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 29 Question Id : 54062622587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & ¥ o9 971 08 YR § IWT Hiedey IeragR o= & Ul ST 82

1. 3T
1. G
Options :
1. % Had 1
2. % Had Il



3. 1dUT 11 Sl
4. % qTEIIATRIII

Question Number : 30 Question Id : 54062622588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who defeated Humayun at Chausa in 1539?
Options :

1. ¥ Sherkhan

2. % Ibrahim Lodi

3. % Rana Sanga

4. # Safavid Shah

Question Number : 30 Question Id : 54062622588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1539 H I H gAY 1 fogn g=mam Ut
Options :

1. ¥ RREH

2. % ZoIGH Al

3. % O

4. % HIdS T8

Question Number : 31 Question Id : 54062622589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the Governor-General of India when the permanent settlement was introduced?
Options :

1. # Thomas Munro

2. ¥ Charles Cornwallis

3. # William Carey



4. ¥ Warren Hastings

Question Number : 31 Question Id : 54062622589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o Rt SEIaRd AN g3 a8 HRA & TTa-R-SRd i A2
Options :

1. % YOy I

2. ¢ AT BN

3. % fafergm B

4. % R FRETH

Question Number : 32 Question Id : 54062622590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Veda Samaj was established in in 1864.
Options :

1. % Bombay

2. ¥ Madras

3. % Delhi

4. % Calcutta

Question Number : 32 Question Id : 54062622590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS AT 1864 H T Ry1iUq fopar am U
Options :

1. % §id

2. ¥ Hglq

3. % faeedt

4, % DDl



Question Number : 33 Question Id : 54062622591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of Event — Year is CORRECT?

I. Second Round Table Conference — 1933
II. Khilafat Movement Launched — 1921

Options :

1. * Only I

2.9 Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 33 Question Id : 54062622591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g - 8 & FafifRd § @ 5 91 g 98t 22
I. ORI TeraS] T — 1933

1. RIQTHd SHicta o1 YR3HTd — 1921
Options :

1. % FHad 1
2. ¥ Had Il
3. % [ UGl
4. % qGIIATRIII

Question Number : 34 Question Id : 54062622592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following has received the Bharat Ratna Award?

I. Indira Gandhi
II. Lata Mangeshkar



Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. % Neither I nor II

Question Number : 34 Question Id : 54062622592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoied # 9 fd YRd 3@ [RIBR § qwATd forar i g2

1. SfqRr mieht

1. T HTRIHR
Options :

1. % PHadl

2. % Had Il

3. 1AUT ISl
4. % 1B

Question Number : 35 Question Id : 54062622593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Agriculture minister of which country chaired the 11th Meeting of BRICS Agriculture Ministers?
Options :

1. % Russia

2. ¥ India

3. % Brazil

4. % China

Question Number : 35 Question Id : 54062622593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fra 32 & BN i A N .o W v (e S il Bt 19 S5 B remerar
Options :

. % &9

2. ¥ YRd

3. % §oid

4. % Iq

Question Number : 36 Question Id : 54062622594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of Indian Constitution is related to the separation of judiciary from executive?
Options :

1. % 44

2. % 47

3.4 50

4. % 54

Question Number : 36 Question Id : 54062622594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU &1 D AT SFJ5e BRI I T BT JUaHhul ¥ A& fid g2
Options :

1. % 44

2. % 47

3.4 50

4. % 54

Question Number : 37 Question Id : 54062622595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of Part —Constituents of Indian Constitution is CORRECT?



I. Part X — The Scheduled and Tribal areas.
II. Part XI — Relations between the union and the states.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 37 Question Id : 54062622595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT TAUM &7 HRT-fcRawgsit &1 Fufafad @ 3 &1F 91 g |8t 82

. YT 10 — ST 3R Sonfd &=
IL YT 11 — 9 3R Is] & &g Jag

Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
4. % qEIIATR I

Question Number : 38 Question Id : 54062622596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who won the Orange Cap in IPL 2020?
Options :

1. # Ishan Kishan

2. % David Warner

3. % Shikhar Dhawan

4. ¥ KL Rahul



Question Number : 38 Question Id : 54062622596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3ITS 0T T, 2020 T 3RS Y farg= Siteht A2
Options :

1. % S fb=H

2. % SfIg MR

3. ® R o

4. ¥ .U gd

Question Number : 39 Question Id : 54062622597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country will host the 2023 FIFA Women World Cup?
Options :

1. # France

2. ¥ Australia and New Zealand

3. % South Africa

4. # Spain and Portugal

Question Number : 39 Question Id : 54062622597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2023 o1 Aiga 3y $U Bt AAEH HIF 1 G- B
Options :

1. % g

2. ¢ e SR el

3. % fRUT 3BT

4. % T 3R G

Question Number : 40 Question Id : 54062622598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Who won the AFC Asian Cup 2019?
Options :

1. ¥ Qatar

2. % Japan

3. ®* Saudi Arabia

4. #* China

Question Number : 40 Question Id : 54062622598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T . TR 67 2019 fba Sitar
Options :
1. ¥ dAR
2. % NI
3. % T34 3RS
4. % JH
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Group Number : 3
Group Id : 540626876
Group Maximum Duration : 0
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Group Marks : 20
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Arithmetic Ability

Section Id : 5406261120
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20
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Sub-Section Id : 5406261334
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54062622599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is value of 153 + 17 x 9 + 57
Options :

1. % 81

2. % 72

3. % 64

4. ¥ 86

Question Number : 41 Question Id : 54062622599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
153 + 17 x 9 + 5 &1 A 1 g7

Options :

1. % 81

2. % 72

3. % 64

4. ¥ 86



Question Number : 42 Question Id : 54062622600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a2 + b2 = 164 and ab = 80, then what is the value of = —I—i ?
a
Options :
9
1.v 40

(]

Question Number : 42 Question Id : 54062622600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
afg a2+ p2 = 164?-rarrab=80%,a‘r3+§ FT AT FIT 7
a

Options :
9
1.v 40



7

;3 % 40

11
4 % 40

Question Number : 43 Question Id : 54062622601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the average of the first 5 prime numbers?
Options :

1.¥ 5.6

2.% 42

3. % 48

4. % 52

Question Number : 43 Question Id : 54062622601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tga 5 TS ATl BT 3 1 52
Options :
1.¥ 5.6
2. % 42
3. % 438
4. % 52

Question Number : 44 Question Id : 54062622602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If a discount of 20 percent is given on the marked price of an article, then the shopkeeper gets a profit of 40 percent. If he offers a discount of 30
percent on the same article, then what is his profit percent?

Options :

1. # 12.5 percent
2. # 16.67 percent
3. ¥ 22.5 percent
4. # 27.8 percent

Question Number : 44 Question Id : 54062622602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS forelt axq o Sifhd Hed TR 20 UTIRIG &1 Be &1 91l ©, Al GHMGR BT 40 U= &1 ary fHrerdr g1 3 a8 I avg IR 30 Wfa=rd &1
BC &dl &, dl IUPT oY Ufa=Id 1 87
Options :

1. % 12.5 gfa=rd
2. % 16.67 Ufa=rd
3. ¢ 225 Ufavid
4. % 27 8 gfa=rd

Question Number : 45 Question Id : 54062622603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The salary of a worker was first increased by 20 percent and thereafter, decreased by 10 percent. What was the change in his salary?
Options :

1. # Increase, 12 percent

2. # Decrease, 12 percent

3. ¥ Increase, 8 percent

4. # Decrease, 8 percent

Question Number : 45 Question Id : 54062622603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TP HHARI & 9= § g 20 UTA=Id B1 9ig B T8 qUT 3D 916 10 U= B HHT D1 15| 3P a1 H b1 aRac gam
Options :

1. % gfg, 12 Ufd=rd

2. % UL, 12 Uld=Id

3.+ gfg, 8 Ula=d

4. % DUl 8 U=

Question Number : 46 Question Id : 54062622604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The present population of a town is 12000. It increases by 25 percent during the first year and decreases by 40 percent during the second year.
What will be the population after two years?

Options :

1. % 8000
2. % 9000
3. % 10000
4. % 11000

Question Number : 46 Question Id : 54062622604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP B B FaH SHEREAT 12000 B | T8 U a¥ & SR 25 Ui 9 Sl 8 9UT g¥R a¥ & SR 40 UfA=d ge ot g1 3 99 a1
ST fohaHt gRT?

Options :

1. % 8000

2.+ 9000

3. % 10000

4. % 11000

Question Number : 47 Question Id : 54062622605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A loss of 5 percent was suffered by selling a car for Rs. 19000. What was the cost price of the car?
Options :

1. ¥ Rs. 22500

2. % Rs. 21000

3. % Rs. 22000

4. ¥ Rs. 20000

Question Number : 47 Question Id : 54062622605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UH BHR BI 19000 ST T 594 TR 5 UfA=Id &1 81 §3 | HR HI T Jod T UT?
Options :

1. % 22500 30"

2. % 21000 3T

3. % 22000 30

4. ¥ 20000 3T

Question Number : 48 Question Id : 54062622606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man sells an article at a profit of 20 percent. Had he bought it at 20 percent less and sold it for Rs. 96 less, he would have still gained 20
percent. What is the cost price of the article?

Options :

1. % Rs. 280
2. % Rs. 380
3. ¥ Rs. 400
4. % Rs. 440

Question Number : 48 Question Id : 54062622606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3MeH! T I T 20 TA=d & o4 TR S=rdl 81 Ife 98 3 20 WA= HH TR TRiedl 94T 39 96 $UY HH TR aadT, at 39 31t +ff 20




UTCIRT &1 ATH BIAT| a¥g BT hd T T 82
Options :

1. % 280 %00

2. % 380 30T

3. ¢ 400 3T

4. % 440 309

Question Number : 49 Question Id : 54062622607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of the present ages of the father and the son is 7 : 3. Three years ago the ratio was 5 : 2. What is the sum of the present ages of the father
and the son?

Options :

1. # 63 years
2. % 81 years
3. % 90 years
4. % 99 years

Question Number : 49 Question Id : 54062622607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
O TUT O &1 IHM 3T 1 30T 7 : 3 8| 9 9N Ugal I8 SUTd 5 : 2 4TI fUar auT O3 &1 aadT 311y &1 I 1 82

Options :

1. % 6399
2. % g1 3y
3. ¢ 90dY
4. % 99 Y

Question Number : 50 Question Id : 54062622608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sum of three numbers is 345. If the ratio between the first and second is 3 : 5 and that between the second and third is 10 : 7, then what will



be the second number?
Options :

1. % 90

2. % 105

3.9 150

4. % 180

Question Number : 50 Question Id : 54062622608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot TSl BT AT 345 § | TG TN TUT G b &<l BT SN 3 : 5 B LT GO LT AR o ST bl SIUTT 10 : 7 B, T G&RT G ol
BT

Options :

1. % 90

2. % 105

3.¥ 150

4. % 180

Question Number : 51 Question Id : 54062622609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the time increases by 4 years, then the simple interest on Rs. 5000 increases by Rs. 80. What is the rate percent per annum?
Options :

1. # 2.5 percent

2. ¥ 0.4 percent

3. % 1.1 percent

4. % (.75 percent

Question Number : 51 Question Id : 54062622609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OIF 9T 4 98 §¢ ST &, a1 5000 TTY TR YR 161 H 80 FUY B1 g Bl ¢ | Ufdas = Ufa=rd &1 g2



Options :

1. % 2.5 gfa=rd
2. ¢ 0.4 Ufderd
3. % 1.1 gfawd
4. % 0.75 gfa=d

Question Number : 52 Question Id : 54062622610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ajay borrowed a sum of money from Vijay at the rate of 5 percent per annum simple interest for the first three years, 10 percent per annum for
the next three years and 15 percent per annum for the period beyond six years. If he pays a total of Rs. 5775 as a interest only at the end of 10
years, then how much money did he borrow?

Options :

1. # Rs. 4500
2. % Rs. 5000
3. # Rs. 5600
4. ¥ Rs. 5500

Question Number : 52 Question Id : 54062622610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3o A faora T ugd i auf & forw 5 ufawra ufaas TR surs ot g3 9, 3ATa ofiF antf & fore 10 ufawrd ufday aur o8 avf & sifde @
31afer & forg 15 ufarrd ufdas &t e & 91 IUR foran| afe a8 Fad 10 a6 & 3fd T a1 & ©0 H $d 5775 FUY 6T YA BT §, <l
I ford= UaT YR foram um

Options :

1. % 4500 30
2. % 5000 3YY
3. % 5600 ¥UY
4. ¥ 5500 3T

Question Number : 53 Question Id : 54062622611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

How many km per hour does a man walk who passes through a street 500 metres long in 5 minutes?
Options :

1. # 2 km/hr

2. % 3 km/hr

3. % 4 km/hr

4. ¥ 6 km/hr

Question Number : 53 Question Id : 54062622611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

500 Hex @t TS I 5 e T oRA arar safad faq i@, ufa 92 &1 Tyar I Iaar g2
Options :

1. % 2 fob.#t /ger

2. % 3 Hi/ger

3. % 4 Hl /ger

4. ¢ 6 fob Ht rdet

Question Number : 54 Question Id : 54062622612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man covers a certain distance by car at 60 km/hr and he returns back to the starting point riding on a scooter at 40 km/hr. What is his average
speed for the whole journey?

Options :

1. # 45 km/hr
2. ¥ 48 km/hr
3. % 52 km/hr
4. % 50 km/hr

Question Number : 54 Question Id : 54062622612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TP TGH! Uh DR gRI 60 fob. 1. Ufd ¢ 1 71l ¥ Up M g2 79 FH=ell 8 91 98 40 .1 vl 1 3t 71fd I Therk R WaR gidhR aroy
TR foig R cledl g | O3 I H S9! MR i 31 82

Options :

1. % 45 foo 1 /5cT

2. ¥ 48 fob Hl /dic

3. % 52 oo Hil /5ieT

4. % 50 fob 41 /eicT

Question Number : 55 Question Id : 54062622613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 men can do a piece of work in 4 days. How many men are needed to complete the work in 20 days?
Options :

1.2

2.%3

3.% 4

4. %5

Question Number : 55 Question Id : 54062622613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 e Th B P14 feT T I Thd € 1 B DI 20 fo H R B & o fovan safaaal &t Sewd gl
Options :

1.¥2

2.%3

3.% 4

4. %5

Question Number : 56 Question Id : 54062622614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A can complete a work in 40 days and B can do the same work in 30 days. A started the work alone. If A leaves the work after five days, then in



how many days B will do the remaining work?
Options :

1
26— days
1L.v 4 J

1
22—d
- 3 days

1
23~ d
. 1 ays

1
21-d
R S

Question Number : 56 Question Id : 54062622614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A TS BT BT 40 foT T TR THd1 € TUT B S BT 1 30 TTA T IR IFaATR | A 3Hal B B HRY FRAT 8| Al A T fg & a1
S BIS <Al 8, Al B RV B fha g J
Options :
1
26— fe&=1

1.v 4

1
i S
4ﬁ?r

2. ®

1
23~ &=

3 % 4



1
21— &=
4

Question Number : 57 Question Id : 54062622615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the area of a triangle whose base is 3.5 metres and height of the same base is 40 cm?
Options :

1. % 0.5 metre?

2. % 1.1 metre?

3. ¥ 0.7 metre?

4. % 1.4 metre?

Question Number : 57 Question Id : 54062622615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S BT &hd 31 § FOrRIehT SMTYR 3.5 Tiex quT I MR &t Sars 40 A, g2
Options :

1. % 0.5 HIc?

2. % 1.1 HicR?

3. 0.7 Hic?

4. % 14Hc?

Question Number : 58 Question Id : 54062622616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The table given below shows the number of boys and girls in five schools.

Number of | Number of
chost Boys Girls
A 64 32
B 30 40
C 60 33
D 50 42
E 50 53

The total number of boys in all the schools is how much percent more than the total number of girls in all the schools?
Options :

1. % 31 percent

2. % 47 percent

3. % 56 percent

4. % 49 percent

Question Number : 58 Question Id : 54062622616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A= &7 75 dTfoiehl 19 Tepell H WISehl T TSTehdl @I TEAT 1 g2 gl

e | A B G | wshl B G
A 64 32
B 30 40
c 60 33
D a0 42
E 50 53

Tl Taezmerat & wse 1 Fo "o, W fae@rerar 7 asfhar #r Fo e ¥ fhae i st §2
Options :

1. % 31 gfard

2. ¢ 47 YfaRrd

3. % 56 gfaerd

4. % 49 gfaerd

Question Number : 59 Question Id : 54062622617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The line chart given below shows the production of rice by a company in five vears.

120

i 64

25

) Y2 Y3 ¥4 Y3

What is the average production of rice in all years?
Options :

1. ¥ 67

2. % 53

3.% 74

4. % 69

Question Number : 59 Question Id : 54062622617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



= @ arr W@ T U 96T @R 9f aut # 99T & 3o & g2 2

120
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25

Yl Y2 Y3 ¥4 Y5
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Options :

1. ¥ 67

2. % 53

3.% 74

4, % 69

Question Number : 60 Question Id : 54062622618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The bar graph given below shows the cost price and selling of five articles.

B25
775 E00 200
650 650
525
475 450
235
I T T T T
Al A2 A3 Ad AS
O Cost price @ Selling price

Profit = Selling price — Cost price
J1 =The value of average profit of all articles
J2 = The difference between the cost price and profit of all the articles

What is the value of (J2 —J1)?
Options :
1. ® 1850
2. % 1280
3. % 1320
4.+ 1685

Question Number : 60 Question Id : 54062622618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e femr T gvs R (AR W) 9T aEgHT F HT HeT I 9T Ao o aeir gl

g 0D B23 800
650 650
525
475 450
2|£I;
Al A2 A3 Ad A5
O&d fAed m fawa Ao

o = BT 7o - 3T J+3

J1 = Fefr FFgait & 3taa omt 71 A

J2=F§flﬁ'q+gdﬁ$ﬁaﬂ e T AT & & Fr HAT

(J2 - J1) T AT F4T 872
Options :
1. % 1850
2. % 1280
3. % 1320
4. ¥ 1685

General English

Group Number : 4
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Break time : 0
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General English

Section Id : 5406261121

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5406261335

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54062622619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error choose ‘No error’.

He were whispering / as if the lonely / desert might hear him. / No error
Options :

1. ¥ He were whispering

2. % as if the lonely

3. * desert might hear him.

4. % No error



Question Number : 61 Question Id : 54062622619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error choose ‘No error’.

He were whispering / as if the lonely / desert might hear him. / No error
Options :

1. ¥ He were whispering

2. # as if the lonely

3. % desert might hear him.

4. % No error

Question Number : 62 Question Id : 54062622620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error choose ‘No error’.

Take care not to / slip into the / flowers, young master. / No error
Options :

1. % Take care not to

2. ¥ slip into the

3. # flowers, young master.

4. % No error

Question Number : 62 Question Id : 54062622620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error choose ‘No error’.

Take care not to / slip into the / flowers, young master. / No error
Options :

1. % Take care not to



2. ¥ glip into the
3. % flowers, young master.
4. % No error

Question Number : 63 Question Id : 54062622621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentences. If no substitution is required, select ‘No
improvement’.

The Princess held the white piglet in her arms and stroked it’s soft hair.
Options :

1. % strike its

2. # strike it’s

3. ¥ stroked its

4. % No improvement

Question Number : 63 Question Id : 54062622621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentences. If no substitution is required, select ‘No
improvement’.

The Princess held the white piglet in her arms and stroked it’s soft hair.
Options :

1. % strike its

2. % strike it’s

3. ¢ stroked its

4. ¥ No improvement

Question Number : 64 Question Id : 54062622622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to substitute the underlined segment in the given sentences. If no substitution is required, select ‘No
improvement’.

His legs trembled from exhaustion and he sank in the shadow for a clump of sage-brush.

Options :

1. #* him sank into the shadow for
2. ¥ he sank into the shadow of
3. * he sinks into the shadow for

4. % No improvement

Question Number : 64 Question Id : 54062622622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentences. If no substitution is required, select ‘No
improvement’.

His legs trembled from exhaustion and he sank in the shadow for a clump of sage-brush.

Options :

1. # him sank into the shadow for
2. ¥ he sank into the shadow of
3. # he sinks into the shadow for

4. ¥ No improvement

Question Number : 65 Question Id : 54062622623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Ana’s dress trailed and rustled as she walked the door.
Options :

1. # into

2. # under

3. ¥ towards

4. % on



Question Number : 65 Question Id : 54062622623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Ana’s dress trailed and rustled as she walked the door.
Options :

1. # into

2. % under

3. % towards

4. % on

Question Number : 66 Question Id : 54062622624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

He was all over and wondered if his ribs were broken as well.
Options :

1. * blazing

2. * dying

3. % caressing

4. ¥ bruised

Question Number : 66 Question Id : 54062622624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

He was all over and wondered if his ribs were broken as well.
Options :

1. # blazing



2. # dying
3. % caressing
4. ¥ bruised

Question Number : 67 Question Id : 54062622625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in CORRECT order.

India is

P. the present urbanization levels at 30 percent
Q. experiencing rapid urbanization with

R. translating to a population of roughly

S. 340 million living in urban areas

Options :

1. # RPSQ
2. % RQPS
3. ¥ QPRS
4. % PQSR

Question Number : 67 Question Id : 54062622625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in CORRECT order.

India is

P. the present urbanization levels at 30 percent
Q. experiencing rapid urbanization with

R. translating to a population of roughly

S. 340 million living in urban areas

Options :
1. % RPSQ
2. % RQPS



3. ¥ QPRS
4. % PQSR

Question Number : 68 Question Id : 54062622626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. In addition, games and sports not only nourish the mind and body, but also nurture the spirit of national integration and a broad international
outlook.

Q. Now games and sports help us have a fit body.

R. They give us rest and respite from the dull drudgery of daily work.

S. Study has to be accompanied with suitable physical activity, because it is necessary to keep both mind and body fit, as a sound mind resides in
a sound body.

Options :

1. * QSPR
2. ¥ SQRP
3. ®* PQRS
4. % QPRS

Question Number : 68 Question Id : 54062622626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. In addition, games and sports not only nourish the mind and body, but also nurture the spirit of national integration and a broad international
outlook.

Q. Now games and sports help us have a fit body.

R. They give us rest and respite from the dull drudgery of daily work.

S. Study has to be accompanied with suitable physical activity, because it is necessary to keep both mind and body fit, as a sound mind resides in
a sound body.

Options :
1. ¥ QSPR



2. ¥ SQRP
3. # PQRS
4. % QPRS

Question Number : 69 Question Id : 54062622627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Remote
Options :

1. ¥ Automatic
2. # Discover
3. ¥ Distant

4. % Near

Question Number : 69 Question Id : 54062622627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Remote
Options :

1. # Automatic
2. # Discover
3. ¥ Distant

4. % Near

Question Number : 70 Question Id : 54062622628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.



Animosity
Options :

1. ¥ Hostility

2. % Comity

3. # Resentment

4. % Humane

Question Number : 70 Question Id : 54062622628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Animosity
Options :

1. % Hostility

2. ¥ Comity

3. # Resentment

4. % Humane

Question Number : 71 Question Id : 54062622629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the CORRECTLY spelt word.
Options :

1. ¥ Peasentry

2. ¥ Peasantry

3. # Paesentry

4. ® Paesantry

Question Number : 71 Question Id : 54062622629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the given question, four words are given out of which one word is correctly spelt. Choose the CORRECTLY spelt word.
Options :

1. ¥ Peasentry

2. ¥ Peasantry

3. # Paesentry

4. # Paesantry

Question Number : 72 Question Id : 54062622630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the CORRECTLY spelt word.
Options :

1. # Emmasculated

2. % Emasculatted

3. % Emasuculated

4. ¥ Emasculated

Question Number : 72 Question Id : 54062622630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the CORRECTLY spelt word.
Options :

1. * Emmasculated

2. % Emasculatted

3. ¥ Emasuculated

4. ¥ Emasculated

Question Number : 73 Question Id : 54062622631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.



Hit the hay

Options :

1. * To do futile efforts
2. % To go to bed

3. % To harvest

4. # To protect the weak

Question Number : 73 Question Id : 54062622631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Hit the hay

Options :

1. # To do futile efforts
2. % To go to bed

3. % To harvest

4. ¥ To protect the weak

Question Number : 74 Question Id : 54062622632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Go for the jugular

Options :

1. ¥ To attack in the most aggressive way
2. # To achieve the impossible

3. % To start a business with no money

4. # To enjoy a roller-coaster ride

Question Number : 74 Question Id : 54062622632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Go for the jugular

Options :

1. ¥ To attack in the most aggressive way
2. # To achieve the impossible

3. # To start a business with no money

4. # To enjoy a roller-coaster ride

Question Number : 75 Question Id : 54062622633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Science that studies the Earth’s physical structure and substances
Options :

1. # Astrology

2. # Aeronautics

3. % Astronomy

4. ¥ Geology

Question Number : 75 Question Id : 54062622633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Science that studies the Earth’s physical structure and substances
Options :

1. % Astrology

2. % Aecronautics

3. % Astronomy

4. ¥ Geology



Sub-Section Number : 2
Sub-Section Id : 5406261336
Question Shuffling Allowed : Yes

Question Id : 54062622634 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage carefully and answer the questions given below.

An island is a body of land surrounded by water. Continents are also surrounded by water, but because they are so big, they are not considered
islands. Australia, the smallest continent, is more than three times the size of Greenland, the largest island.

There are countless islands in the ocean, lakes, and rivers around the world. They vary greatly in size, climate, and the kinds of organisms that
inhabit them.

Many islands are quite small, covering less than half a hectare (one acre). These tiny islands are often called islets. Islands in rivers are

sometimes called aits or eyots. Other islands are huge. Greenland, for example, covers an area of about 2,166,000 square kilometers (836,000
square miles).

Some islands, such as the Aleutian Islands in the U.S. state of Alaska, are cold and ice-covered all year. Others, such as Tahiti, lie in warm,
tropical waters. Many islands, such as Easter Island in the South Pacific Ocean, are thousands of kilometers from the nearest mainland. Other
islands, such as the Greek islands known as the Cyclades in the Aegean Sea, are found in closely spaced groups called archipelagoes.

Many islands are little more than barren rock with few plants or animals on them. Others are among the most crowded places on Earth. Tokyo,

one of the world’s largest cities, is on the island of Honshu in Japan. On another island, Manhattan, rise the towering skyscrapers of the financial
capital of the world, New York City.

For centuries, islands have been stopping places for ships. Because of isolation, many islands have also been home to some of the world’s most
unusual and fascinating wildlife.

Sub questions

Question Number : 76 Question Id : 54062622635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why some islands have been home to some of the world’s most unusual and fascinating wildlife?
Options :

1. # Because of stable temperature all year round

2. % Because of isolation

3. ¥ Because of unfertile land

4. ¥ Because of proximity to the sea



Question Number : 77 Question Id : 54062622636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, which of the following statements is INCORRECT?
Options :

1. # New York City is the financial capital of the world.

2. % Continents are not considered islands.

3. # Tokyo is on the island of Honshu in Japan.

4. ¥ Tslands which are less than one acre are considered eyots.

Question Number : 78 Question Id : 54062622637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which island lies in warm tropical waters?
Options :

1. ¥ Manhattan

2. # Aleutian

3. % Tahiti

4. % Cyclades

Question Number : 79 Question Id : 54062622638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words is similar in meaning to the word ‘barren’ as used in the passage?
Options :

1. # Lush

2. ¥ Fruitless

3. % Culpable

4. % Fertile

Question Number : 80 Question Id : 54062622639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following words is opposite in meaning to the word ‘fascinating’ as used in the passage?
Options :

1. ¥ Abhorrent

2. % Intriguing

3. % Magnetic

4. % Lucid

Question Id : 54062622634 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage carefully and answer the questions given below.

An island is a body of land surrounded by water. Continents are also surrounded by water, but because they are so big, they are not considered
islands. Australia, the smallest continent, is more than three times the size of Greenland, the largest island.

There are countless islands in the ocean, lakes, and rivers around the world. They vary greatly in size, climate, and the kinds of organisms that
inhabit them.

Many islands are quite small, covering less than half a hectare (one acre). These tiny islands are often called islets. Islands in rivers are
sometimes called aits or eyots. Other islands are huge. Greenland, for example, covers an area of about 2,166,000 square kilometers (836,000
square miles).

Some islands, such as the Aleutian Islands in the U.S. state of Alaska, are cold and ice-covered all year. Others, such as Tahiti, lie in warm,
tropical waters. Many islands, such as Easter Island in the South Pacific Ocean, are thousands of kilometers from the nearest mainland. Other
islands, such as the Greek islands known as the Cyclades in the Aegean Sea, are found in closely spaced groups called archipelagoes.

Many islands are little more than barren rock with few plants or animals on them. Others are among the most crowded places on Earth. Tokyo,
one of the world’s largest cities, is on the island of Honshu in Japan. On another island, Manhattan, rise the towering skyscrapers of the financial
capital of the world, New York City.

For centuries, islands have been stopping places for ships. Because of isolation, many islands have also been home to some of the world’s most
unusual and fascinating wildlife.

Sub questions

Question Number : 76 Question Id : 54062622635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why some islands have been home to some of the world’s most unusual and fascinating wildlife?
Options :

1. # Because of stable temperature all year round

2. % Because of isolation



3. ¥ Because of unfertile land

4. ® Because of proximity to the sea

Question Number : 77 Question Id : 54062622636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, which of the following statements is INCORRECT?
Options :

1. ® New York City is the financial capital of the world.

2. # Continents are not considered islands.

3. # Tokyo is on the island of Honshu in Japan.

4. # Islands which are less than one acre are considered eyots.

Question Number : 78 Question Id : 54062622637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which island lies in warm tropical waters?
Options :

1. ¥ Manhattan

2. % Aleutian

3. ¢ Tahiti

4. ® Cyclades

Question Number : 79 Question Id : 54062622638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words is similar in meaning to the word ‘barren’ as used in the passage?
Options :

1. #® Lush

2. ¥ Fruitless

3. # Culpable

4. ® Fertile



Question Number : 80 Question Id : 54062622639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words is opposite in meaning to the word ‘fascinating’ as used in the passage?
Options :

1. ¥ Abhorrent

2. % Intriguing

3. % Magnetic
4. % Lucid
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Sub-Section Number : 1
Sub-Section Id : 5406261337
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54062622640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T 7T 2eg & T WY faw3q 1 = BT
ERI

Options :

1. % gfd + aff
2. % Tl + ofifc
3. 3fd + 3ffe
4. % 3l + 3Mmd

Question Number : 81 Question Id : 54062622640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 77U wreg & B TfY fawe o1 I8 S|
B

Options :

1. % gfd + affg
2. % gdl + i
3. ¢ g+ 3nfe
4. % ol + STdt

Question Number : 82 Question Id : 54062622641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT TT Wsg 1 HH J1d HifSTT|



3o

Options :

1. % HHYRY AN
2. ¢ YT U
3. % Sgdife AN
4. % TUTY A

Question Number : 82 Question Id : 54062622641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T Yo, T HH 1A DT

3o H

Options :

1. % HHYRY A
2. ¢ JHYTHIG THN
3. % qgdife Ia™

4. % JOY JHY

Question Number : 83 Question Id : 54062622642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & 4 &1 91 Usg 3T 82

Options :
1. dIdl
2. % Y
3. ¥ dldh
4, ®# MaR

Question Number : 83 Question Id : 54062622642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Fofad o ¥ 319 91 Xeg 319 57
Options :

1.« dId[

2. % T

3. ¥ dldh

4, % IR

Question Number : 84 Question Id : 54062622643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fqu 7 area & fad ®IFE &1 gfd w1
ATAT AP UGS JHE B I Hed ¢

Options :

1. % Y

2. ¢ AidH

3. % e
4, % bl

Question Number : 84 Question Id : 54062622643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fqu 7 I & fRad ®IF &t gfd 1
AAAVAMF UGS JUE I IR Hed ¢

Options :

1. % gy

2. ¢ Uiid
3. % FRd®
4, % Jhd




Question Number : 85 Question Id : 54062622644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ T Tsg &1 faeiw ee F1d BT
IPY

Options :

1. % gASY
2. % IUDY
3. % Aoy
4. UDHY

Question Number : 85 Question Id : 54062622644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 7T Ysg 1 faei e Tsg 1A BT
IHY

Options :

1. % DY
2. % IUDHY
3. % Aoy
4. UDHY

Question Number : 86 Question Id : 54062622645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 71T req 1 wATgaTH F1d BT

Options :



1. % qa
2. % TN
3. ¢ TP

4. % gfaq

Question Number : 86 Question Id : 54062622645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T T4 Wree &1 wafgaTsh 31 Bifw|

JalorUl
Options :
1. % ol
2. % YIS
3. ¢ TP
4. % gigd

Question Number : 87 Question Id : 54062622646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad 2rsal # ¥ Y ac-1 &1 70 Bl |
Options :

1. % fraig

2. ¢ 3ffdfd

3. % WY

4. % g

Question Number : 87 Question Id : 54062622646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad Weal & I Y& aa &1 994 DI |



Options :

1. % 3fraig
2. ¢ Ay
3. % W

4. % AR

Question Number : 88 Question Id : 54062622647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRad a1l § ¥ R 1 BT I DI
Options :

1. ¥ B St & 3T B HeTqa gl e |

2. % S B T% ST 31U, FHel gu 8l e |

3. % 5 off 3MTY 3R H&T U &l TR |

4, % 5 St 31U ST H&T U B T |

Question Number : 88 Question Id : 54062622647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefad aTel # 9 O 1o 1 99 Pifoiu|
Options :

1. ¢ T ot & 317 € e gu 81 T3 |

2. % S B TS off 3MY, FHeT gU g1 s |

3. % T off 31U 3R HeT U gl T3 |

4. % TS SN 3TU ST FH& Ju 8l T8 |

Question Number : 89 Question Id : 54062622648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRad a1l o @ e a1 &1 99+ BT

Options :
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Question Number : 89 Question Id : 54062622648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed aregt o @ Wged a1 o1 75 S|
Options :

1. % IO AT Wi TER T g

2. % Sq T P AT W § I 98 TR T 8|
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4. % IO D] AT W1 T Hifch 98 e 11 T

Question Number : 90 Question Id : 54062622649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRad H I TAfeRT F1d Bl
Options :

1. % AR

2. % qUdt

3. % g4t

4. ¢ foeit

Question Number : 90 Question Id : 54062622649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafead # & wfeT Id Hifo|
Options :

1. % AR



2. % qud!
3. % ggredt
4. ¢ foccht

Question Number : 91 Question Id : 54062622650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad arr & ora £ sifs|
3T faegTera e g |

Options :

1. % 3quf gaH H1a

2. ¢ ST qHH BT
3. % Tl daHH BT
4. % YUTH IdHH B

Question Number : 91 Question Id : 54062622650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefad o § ora SR pifve|
3T faerea gar gl

Options :

1. % 3(qul gfAE H1a

2. « ey gdHE BT
3. % Tl daH BT
4. % YU IdHH B

Question Number : 92 Question Id : 54062622651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.% |

2. % 1|

3.¢17

4. % 7

Question Number : 92 Question Id : 54062622651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % |
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3.¢17
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Question Number : 93 Question Id : 54062622652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 93 Question Id : 54062622652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 94 Question Id : 54062622653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 94 Question Id : 54062622653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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2. ¢ Sid ¥ AT
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Question Number : 95 Question Id : 54062622654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gD HTH DAl
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Question Number : 95 Question Id : 54062622654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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3. ¥ BI-HIeT AIU Bl

4, % §gd JaRITal gIHT
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Sub questions

Question Number : 96 Question Id : 54062622656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T 3UfSa TR H1 ITged NS T g2
Options :

1. ¢ 3fceTa H Rig-1y g

2. % JHAATT wIfew

3. % gifgd o sfdgr™

4. % U HTYYE

Question Number : 97 Question Id : 54062622657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 98 Question Id : 54062622658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frofafed # 9 o R wifed &1 ®fd 781 &
Options :

1. % Ul

2. % HapiNUl

3. % IR

4. TGS

Question Number : 99 Question Id : 54062622659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 100 Question Id : 54062622660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Id : 54062622655 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)
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Sub questions

Question Number : 96 Question Id : 54062622656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T 3UfSa TR H1 Iuged MuH T g2
Options :

1. ¢ 3fceTa H Rig-1y g

2. % JHAATT wifed

3. % gifgd o sfdgr™

4. % U HTYHE

Question Number : 97 Question Id : 54062622657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4. % I orad o SRS a9

Question Number : 98 Question Id : 54062622658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frofafed & 9 o Rie wifed &1 &fa 981 &
Options :

1. % QeRUl

2. % HapiNUl

3. % IR

4. ¢ i<

Question Number : 99 Question Id : 54062622659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 101 Question Id : 54062622661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the study and ability to solve problems within human behavior such as health issues, workplace issues, or education.
Options :
1. % Applied medio logy
2. % Applied ecology
3. % Applied psychology
4. ¥ Applied musicology

Question Number : 101 Question Id : 54062622661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3{Iugdd Hifgdidioil

2. % 3 UTRIRIfca!
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4. % TG HIafasH

Question Number : 102 Question Id : 54062622662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a specialty area within applied psychology?
Options :

1. # Clinical psychology

2. # Counselling services

3. % Medicinal psychology

4. ¥ Chemical psychology

Question Number : 102 Question Id : 54062622662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

FrafaRad & 9 S1F 91 SFygad AifawH & Sfdiid Ue faviy & =18t 52
Options :

1. % JaT-e gfag

2. % QRIAR JaTd

3. % 3Nyt gAfaE

4.« J9Taf® T

Question Number : 103 Question Id : 54062622663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

psychology is different than psychology in that it focuses on theory and fundamental understanding over practical
solutions to issues.

Options :

1. ¥ Basic; applied

2. # Basic, proven

3. % Research; applied

4. # Research; clinical

Question Number : 103 Question Id : 54062622663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TfagH, T ¥ i B, e g goansit & HmagiRe 9y ¥ ofte Rigid ok Hifad 999 R $fsd 5
Options :
1. ¢ HIfTeP; Sguger
2. % ﬁ%,ﬁi&r
3. % SFTHYUT; Srugad
4. % Hﬂﬂﬂﬁ,w

Question Number : 104 Question Id : 54062622664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
is a term referring to the mental processes involved in gaining knowledge and comprehension.
Options :
1. ¥ Cognition
2. % Ignition
3. % Hyphenation

4. ¥ Segmentation

Question Number : 104 Question Id : 54062622664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
, I SR THE T o | =MfAe AR ufsharsil &1 e < arel Xsgug g |
Options :
1. ¢ I3
2. % Usddd
3. % GIEHBAIDRUI
4, % IRl

Question Number : 105 Question Id : 54062622665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Thinking, knowing, remembering, judging, and problem-solving are examples of:
Options :

1. # Formative process

2. ¥ Cognitive processes

3. % Informative processes

4. % Psychiatric processes

Question Number : 105 Question Id : 54062622665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gRfY® gfgsar (FHafor ufdsan)

2. ¥ TIHTHESD Yishal

3. % GIIIHED Yichal

4. % FAIfAHRY Ufsar

Question Number : 106 Question Id : 54062622666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
has strong influence on attention, especially modulating the ‘selectivity of attention’ as well as motivating action and behavior.
Options :
1. #* Distribution of thoughts
2. ¥ Emotion
3. ¥ Selection of feelings

4. % Promotion of feelings

Question Number : 106 Question Id : 54062622666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
; 1, ORI U T a0 o1 TATHD AT BT SN B &b F1Y-T1Y fohaT 3R TagR o1 IR B & o, e WR 18- uHia
Usdisl
Options :
1. % fqaRl & faaror
2. % YIgHl
3. % HIG13M & g
4. % TGSl o HadH

Question Number : 107 Question Id : 54062622667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Emotions are influenced by a network of interconnected structures in the brain that make up what is known as the:
Options :

1. ¥ Limbic system

2. # Centric system

3. ¥ Lamborghini system

4. # Laminated system

Question Number : 107 Question Id : 54062622667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIGHTE AfRTSh T TRER JSt 39 IRA18H & T Aeads J YT gicll & fors & &Y H ST 91 8 |
Options :

1. ¢ THid (feifa®) 93

2. % Hagad

3. % SR dx

4, % WRd A

Question Number : 108 Question Id : 54062622668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

hypothalamus, the hippocampus, the amygdala, and the limbic cortex play a pivotal role in:
Options :

1. % human memorization skill

2. ¥ emotions and behavioral responses

3. % human listening skills

4. % human audio-visual skills

Question Number : 108 Question Id : 54062622668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 109 Question Id : 54062622669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a component of emotion?
Options :

1. #® The subjective component

2. ¥ Objective component

3. # The physiological component

4. ® The expressive component

Question Number : 109 Question Id : 54062622669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # WYIY UCh

2. ¢ 3fHERUS Yh

3. % TRING Uedh

4. % JHfHSSD gh

Question Number : 110 Question Id : 54062622670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a paradigm of psychology?
Options :

1. ¥ Behaviorism



2. ¥ Information Retrieval and Data Analytics
3. # Social Constructivism and Situated Learning

4. ® Individual Constructivism

Question Number : 110 Question Id : 54062622670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. ¢ I YAV SR ST fawawm

3. % oD YaTaTG SR fRyd Riaor

4. % G TATAIG

Question Number : 111 Question Id : 54062622671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the branch of statistics that deals with the design and analysis of experiments.
Options :
1. # Ornamental design
2. ¥ Experimental design
3. # Analysis and design
4. ® Modeling and design

Question Number : 111 Question Id : 54062622671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % DRI fewrgA

2. ¢ AT F&TTg




3. % fawqvr 3R fewrs
4. % ATSfenT 3R fEuig

Question Number : 112 Question Id : 54062622672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a widely used experimental designs?
Options :

1. # Factorial design

2. ¥ Randomized block design

3. # Completely randomized design

4. ¥ Incompletely randomized design

Question Number : 112 Question Id : 54062622672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 113 Question Id : 54062622673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The way we perceive ourselves in relation to the rest of the world plays an important role in our:
Options :

1. ¥ choices, behaviors, and beliefs

2. ® educational goals

3. % social status goals



4. % societal status

Question Number : 113 Question Id : 54062622673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 114 Question Id : 54062622674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to social psychology, we can say that our serve goals or fulfill needs.
Options :

1. % social media profile

2. # social status

3. % interactions

4, % education

Question Number : 114 Question Id : 54062622674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % I HifSar mwed
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Question Number : 115 Question Id : 54062622675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Organizing essentially consists of establishing a of labor.
Options :

1. # violation

2. % mitigation

3. # creation

4. ¥ division

Question Number : 115 Question Id : 54062622675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Icdd

2. % XHA

3. % fqmio

4. ¥ faHTeH

Question Number : 116 Question Id : 54062622676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Task of the managers in an organization is to the activities of individuals and groups to extract the best outcome.
Options :

1. ¥ coordinate

2. # cooperate

3. ® violate

4. # distinguish

Question Number : 116 Question Id : 54062622676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ gHGY
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Question Number : 117 Question Id : 54062622677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
in organization divide the work among individuals and group of individuals.
Options :
1. # Workers
2. ¥ The managers
3. ®¥ Union leaders
4. % (Clerks

Question Number : 117 Question Id : 54062622677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
, 13 H Afial SR safekadl & THg & st BT B fauiiord sl g |
Options :
1. ® yffeh
2. ¥ JdY®H
3. % IY o AT (G dleR)
4. % fofde (@@d)

Question Number : 118 Question Id : 54062622678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The following disorders are cured by cognitive behavioral therapy, EXCEPT one:
Options :

1. # Anxiety

2. # Depression

3. ¥ Panic attack

4. ¥ Migraine

Question Number : 118 Question Id : 54062622678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e fapadi 49 ¥ Sifafvad org Tt AR IS IR STIR gRIR B ] |
Options :

1. ® foar

2. % 3{qdlq

3. % YRIgT & o (UfE 31eeh)

4. ¢ YBHIRT (@ATZIA)

Question Number : 119 Question Id : 54062622679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following disorders CANNOT be cured by cognitive behavioral therapy?
Options :

1. % Addictions

2. # Eating disorders

3. ¥ Anger

4. ¥ Arthritis

Question Number : 119 Question Id : 54062622679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # g (cId)
2. % YIoH fdpR
3. % oIy

4.« TSI

Question Number : 120 Question Id : 54062622680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The primary focus of developmental psychology is on the for children, adolescents, adults, and the elderly.

Options :

1. ¥ process of change

2. ® process of distraction
3. % process of disruption

4. % process of destruction

Question Number : 120 Question Id : 54062622680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT AR BT Uil e 9=, {2k, aavan! 3R g9 & forg R
Options :

1. ¢ URadH &t gfchar

2. % ATHadl i Uichadl

3. % gAY bl Yfchar

4. % {1 1 Ufchar
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Question Number : 121 Question Id : 54062622681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Developmental psychologists look at a wide variety of areas in which:
Options :

1. # patient background

2. ¥ change occurs

3. % change is impossible

4. % cure is impossible

Question Number : 121 Question Id : 54062622681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fasrTES AT fafte TeR & &= & 3ad § fora
Options :

1. % I gy =nfia @

2. ¢ URAd gl §

3. % ORAdA 3Ud §

4. % JUAR I §

Question Number : 122 Question Id : 54062622682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By Indian psychology we mean an approach to psychology that is based on ideas and practices that developed over thousands of years within
the:

Options :

1. ¥ Indian sub-continent
2. ¥ Asian subcontinent
3. % Qutside India

4. % Culture of India

Question Number : 122 Question Id : 54062622682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRAT AAOT ¥ §HRT gy AN » fd ST ERH AT ToRI 9o # g Rid faari iR sragRi oR enemia B
Options :

1. ¥ HRdIg SUHGTEY |

2. % URMTE SuHEgy

3. % YRd & §eR

4. % YR DI GE&pid H

Question Number : 123 Question Id : 54062622683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The basic definition of multivariate analysis is a that measures relationships between two or more response variables.
Options :

1. #* hypothetical method

2. # structural method

3. % statistical method

4. # inference technique

Question Number : 123 Question Id : 54062622683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRR} fazawur &t 7ed aRyTeT T S ATl Y e ufafehar TR & s Geelf & A B
Options :

1. % PIedHdb iy

2. % YT fafy

3. ¢ ifge g fafe

4. % 3IAM dh-ilh

Question Number : 124 Question Id : 54062622684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By understanding, the behaviors can be and with the help of desired behavior, work can be
Options :

1. # compensated; adjusted

2. % controlled; accomplished

3. % completed; controlled

4. ¥ compensated; controlled

Question Number : 124 Question Id : 54062622684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % YihTRd; JHIAS
2. ¢ ffaq; dorfed

3. % U;Uf,ﬁaﬁa

4. % gfdepTid; Fafd

Question Number : 125 Question Id : 54062622685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The group process comprises the used by members for information exchange, group decision process, conflict, interaction etc.
Options :

1. # gender pattern

2. % religion pattern

3. % communication pattern

4. % qualification pattern

Question Number : 125 Question Id : 54062622685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fof Oed
2. % g e

3. ¢ AR Ued
4. % TG U

Question Number : 126 Question Id : 54062622686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

has become most common and continuous task in any organization for updating skills and knowledge of employees in accordance with
changing environment.



Options :

1. # Research and Development
2. % Training and Development

3. # Study and Implementation

4. % Controlling and Coordinating

Question Number : 126 Question Id : 54062622686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3FIHYM Td fabrg

2. ¥ UiRI&01 T fdhrg

3. % 3 Ud HrEafaad

4. % {3901 U H-AIHROT

Question Number : 127 Question Id : 54062622687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is purely job focused but 1s psychology and soft skills oriented.
Options :
1. # Completed; controlled
2. % Controlling, coordinating
3. ¥ Training; development

4. % Development; training

Question Number : 127 Question Id : 54062622687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® guf; frafa

2. % {907, St ol
3. ¢ UfRIemr; fary

4. % fomrg. ufeor

Question Number : 128 Question Id : 54062622688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Training is the process of the required Skills to an employee in order to make him/her skilled and perfectionist in the job which he /
she does.

Options :

1. ¥ improving and polishing

2. # verifying and validating

3. # specifying and incorporating

4. % controlling and coordinating

Question Number : 128 Question Id : 54062622688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ IFG 3R A

2. % T 3R JHIUMA

3. % RfEPeHRU ok gHTEA

4. % TRE0T SR gH-aAIHRUT

Question Number : 129 Question Id : 54062622689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the scientific study of what makes life most worth living, focusing on both individual and societal well-being.
Options :



1. ¥ Positive psychology
2. # Social psychology

3. # Clinical psychology
4. % Scientific psychology

Question Number : 129 Question Id : 54062622689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jafade SR IS HeIul GHI O &M digd Hd U, St & gay Sfe o4 917G §911 aTel HRON/BRS| B1 AT+
AT
Options :

1. ¢ IHRIAS HATAH
2. % TSI AR
3. % Aa1He AAfaE
4. ® Iy gAfaTe

Question Number : 130 Question Id : 54062622690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

focuses on eudaimonia, an Ancient Greek term for "the good life" and the concept for reflection on the factors that contribute the
most to a well-lived and fulfilling life.

Options :

1. ¥ Positive psychology
2. ¥ Affirmation

3. # Admiration

4. ¥ Fitness

Question Number : 130 Question Id : 54062622690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ THRIAD HATAIH
2. % G (SR

3. % guT

4. % IUYaRIT

Question Number : 131 Question Id : 54062622691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Positive psychology is the scientific study of what makes life most worth living, focusing on both individual and societal well-being deals with
following subfields, EXCEPT one:

Options :

1. # Positive subjective experience
2. # Positive individual traits

3. % Positive institutions

4. ¥ Positivity music

Question Number : 131 Question Id : 54062622691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % YHRIAD WG 3THT

2. % IPRIHAD AfGdTTd &1

3, % JHRIHAD IR

4. ¢ HRIHD it

Question Number : 132 Question Id : 54062622692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In self psychology, the self is understood to be the of an individual’s psychological universe.



Options :

1. % Diagonal
2. ¥ Center

3. % Coordinate

4. # Conjugate

Question Number : 132 Question Id : 54062622692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WA H, I B dGfckich A1 Sels Bl REEIRCIRIE
Options :

1. % faopuf

2.V B%

3. % e

4. % g

Question Number : 133 Question Id : 54062622693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The role of is very important to self-psychology.
Options :

1. % Awakening

2. % Endurance

3. ¥ Transference

4. % Assurance

Question Number : 133 Question Id : 54062622693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. % SR
2. % 9 (TgT=itaan)
3. ¢ RJHIRUI

4. % My

Question Number : 134 Question Id : 54062622694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the ability to accurately receive and interpret messages in the communication process.
Options :
1. # Meditation
2. % Imagination
3. # Visualization
4. ¥ Listening

Question Number : 134 Question Id : 54062622694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % & @AfgeTm)
2. % HeUARIGd (FHSHRA)
3. % TOHROT (A=)

4. ¢ #qui (fergfam)

Question Number : 135 Question Id : 54062622695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Listening is key to all effective without which, messages are easily misunderstood.
Options :

1. # adaptation



2. * vyisualization
3. % communication

4. % clarification

Question Number : 135 Question Id : 54062622695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3{Jpcld

2. % XYM

3. ¥ ¥OR

4. % WPIHI]

Question Number : 136 Question Id : 54062622696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
can lead to better customer satisfaction, greater productivity with fewer mistakes, and increased sharing of information.
Options :
1. ¥ Good listening skills
2. % Good education
3. ® Good background of employee
4. ¥ Good loyalty

Question Number : 136 Question Id : 54062622696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¢ SEAR YdU DI
2. % Iay fRyen




3. % HHARI B 3D gEYH
4. % B! THIGRY

Question Number : 137 Question Id : 54062622697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The most important development in early childhood social cognition is the development of:
Options :

1. # Theory of body

2. ¥ Theory of mind

3. % Theory of spirit

4. # Theory of meditation

Question Number : 137 Question Id : 54062622697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR STedTaRIT JHToIS S H Fey Heayu! faer o1 faeTa g
Options :

1. % RN & Rrgia

2. ¢ URah & Rigia

3. % Y1 & Rigid

4. % o & Rigid

Question Number : 138 Question Id : 54062622698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Development of during the first five years of life is described as factor that influences its development
Options :

1. # theory of medication

2. # clinical mind

3. ¥ theory of mind



4. % mindful acts

Question Number : 138 Question Id : 54062622698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3wy & Rigid

2. % HaId A

3. ¥ T & Rigid

4. % TAdd BRI

Question Number : 139 Question Id : 54062622699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When people value diversity, they recognize and respect:
Options :

1. # Standard functions

2. % Standard operations

3. % Variance

4. ¥ Differences

Question Number : 139 Question Id : 54062622699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % HFD BT
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Question Number : 140 Question Id : 54062622700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

This is the mosaic of people whose varied backgrounds, styles, perspectives, values and beliefs can be assets to groups, organizations, and the
communities in which we live.

Options :

1. ® Spirituality
2. % Adversity

3. % Diversity

4. % Unity

Question Number : 140 Question Id : 54062622700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % Seaniardhdl
2. % fqufe
3. ¢ fafaear
4, % Udhdl

Discipline3
Group Number : 8
Group Id : 540626881
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20

Is this Group for Examiner? : No
Discipline3

Section Id : 5406261125

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5406261341

Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 54062622701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a field of study that addresses change and how it affects organizations and the individuals within those organizations.
Options :
1. ¥ Organizational development
2. % Financial Development
3. ®* Research and Development

4. % Cognitive Development

Question Number : 141 Question Id : 54062622701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ &S famr
2. % fo<iig faer

3. % Y 3R fawr
4. % IJIHTHS [dbr

Question Number : 142 Question Id : 54062622702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Effective organizational development can assist organizations and individuals to cope with:
Options :

1. # diversity

2. ¥ change

3. % gpirituality

4. ¥ Effectivity

Question Number : 142 Question Id : 54062622702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fafaear

2. ¢ URadH

3. % STATHB

4. % QUGBTI

Question Number : 143 Question Id : 54062622703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A basic involves a lot of strategy and thought. The color scheme, visuals and actual words used are designed to appeal to the
consumer in a unique way.

Options :



1. ¥ Advertisement
2. #* Sales policy
3. # Sales plan

4. % Sales models

Question Number : 143 Question Id : 54062622703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ fasmo=

2. % faept Hifd
3. % foe! Ao
4. % fqpl dled

Question Number : 144 Question Id : 54062622704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In advertisements, consumers can be manipulated and used in a different way to affect behavior.
Options :

1. % money

2. ¥ emotions

3. # shopping style

4. % credit cards

Question Number : 144 Question Id : 54062622704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % ¢

2. ¢ Yra-rafi

3. % TSR P el
4. % HSCHIS

Question Number : 145 Question Id : 54062622705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gender is generally conceived as a or traits that are associated with a certain biological sex.
Options :

1. ¥ set of characteristics

2. % set of attitude

3. # set of perception

4. % set of conditions

Question Number : 145 Question Id : 54062622705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ foRIvarsfi & 9q=™

2. % AgIRD & =

3. % YROMS{ & =g

4. % Al & =

Question Number : 146 Question Id : 54062622706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In non-western countries, is NOT always conceived as binary, or strictly linked to biological sex.
Options :

1. # body



2. ¥ gender
3. % age
4. # religion

Question Number : 146 Question Id : 54062622706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % RR

2. ¢ o

3. % 3

4. % g

Question Number : 147 Question Id : 54062622707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the study of the dynamic relationship between individuals and the people around them.
Options :
1. % Spiritual psychology
2. % All-round psychology
3. ¥ Human psychology
4. ¥ Social psychology

Question Number : 147 Question Id : 54062622707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3. % HMFg HANfAE
4. ¢ RIS AATATH

Question Number : 148 Question Id : 54062622708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Each of us is different, and our individual characteristics, including our personality traits, desires, motivations, and emotions, have an important
impact on our:

Options :

1. * Physical growth
2. % Financial status
3. % Social behavior

4. % Environmental behavior

Question Number : 148 Question Id : 54062622708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® IRING fawrg
2. % foxiig fRufa

3. ¢ THISIH TR
4. % UY[aRU STAGR

Question Number : 149 Question Id : 54062622709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Infants and toddlers are born ready to:
Options :

1. # earn

2. ¥ learn



3. ® act

4. % vyisualize

Question Number : 149 Question Id : 54062622709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3foi B
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3. % BRI

4, % HeUA B

Question Number : 150 Question Id : 54062622710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to cognition, of infants and toddlers go through amazing changes during the first three years of life.
Options :

1. ¥ brains

2. # heart

3. % activities

4. % surroundings

Question Number : 150 Question Id : 54062622710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 151 Question Id : 54062622711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the scientific study of crime, criminals and the criminal justice system.
Options :
1. ¥ Criminology
2. # Investigation
3. # Defense
4. ® Offense

Question Number : 151 Question Id : 54062622711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¥ SORTY-faqH
2. ® 3Nl
3. % gfaRen
4, % URTY

Question Number : 152 Question Id : 54062622712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which element is NOT part of criminology component?
Options :

1. # Law

2. ¥ Neurology

3. % Psychology

4. % Sociology



Question Number : 152 Question Id : 54062622712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IF | dcd 3ORTY fax e 1 fewan 78t 82
Options :
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Question Number : 153 Question Id : 54062622713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
investigate different types of crime and suggest ways in which crime can be prevented.
Options :
1. ¥ Criminologists
2. # Circle inspectors
3. % Head constables

4. # Sub-Inspectors

Question Number : 153 Question Id : 54062622713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 154 Question Id : 54062622714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the use of a computer as a for committing crimes such as committing fraud, identities theft or breaching privacy.
Options :
1. ¥ Cybercrime; weapon
2. % Malware; tool
3. # Prosecution; weapon
4. % Trial; tool

Question Number : 154 Question Id : 54062622714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ BIOR; WIZeR IRTY

2. % I, HeaR
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Question Number : 155 Question Id : 54062622715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a cybercrime?
Options :

1. % Cyber stalking

2. % Antivirus installation

3. ¥ Identity theft

4. % Financial fraud

Question Number : 155 Question Id : 54062622715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 156 Question Id : 54062622716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Criminal law defines the and of individuals in society.
Options :

1. # rights; opportunities
2. # crimes; obligations
3. ¥ rights; obligations

4. # crimes; criminals

Question Number : 156 Question Id : 54062622716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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2. % 3RIY; Do

3. ¢ JHYDR,; B

4, % 3MORTY; ORI

Question Number : 157 Question Id : 54062622717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Issues in criminal law are the elements of specific and the elements of various
Options :

1. #* offense; defense

2. % police station; offenses

3. # criminals; criminal history

4. % crimes; criminal defenses

Question Number : 157 Question Id : 54062622717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 158 Question Id : 54062622718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Criminal procedure mainly concerns the during the criminal process.
Options :

1. # Criminal history

2. % Number of crime records

3. % Type of crime

4. ¥ enforcement of individuals’ rights

Question Number : 158 Question Id : 54062622718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 159 Question Id : 54062622719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Forensic science, also known as:
Options :

1. % Criminalistics

2. ® Criminal statistics

3. # Criminal forensics

4. ¥ Criminal science

Question Number : 159 Question Id : 54062622719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 160 Question Id : 54062622720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is the application of science to criminal and civil laws, mainly on the criminal side during criminal investigation, as governed by the
legal standards of admissible evidence and criminal procedure.

Options :



1. ¥ Criminalistics
2. * Criminal statistics
3. #* Criminal forensics

4. * Criminal science

Question Number : 160 Question Id : 54062622720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 161 Question Id : 54062622721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
collect, preserve, and analyze scientific evidence during the course of an investigation.
Options :
1. # Circle Inspector
2. ¥ Forensic scientists
3. % Sub Inspector

4. % Public Prosecutor

Question Number : 161 Question Id : 54062622721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 162 Question Id : 54062622722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

can be defined as the organization and management of resources and responsibilities for dealing with all humanitarian aspects of
emergencies.

Options :

1. * Force management

2. % Information management
3. ¥ Disaster management

4. % Tragedy management

Question Number : 162 Question Id : 54062622722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 163 Question Id : 54062622723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the context of disaster management, the following attributes assist in lessening the impact of disasters. Which of the options is NOT one of
these attributes?

Options :

1. % Preparedness
2. ®% Response

3. # Recovery

4. ¥ Patience



Question Number : 163 Question Id : 54062622723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 164 Question Id : 54062622724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a theory of Crime?
Options :

1. #¥ Rational Choice

2. # Sociological Positivism

3. #* Biological Positivism

4. % Chemical Positivism

Question Number : 164 Question Id : 54062622724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 165 Question Id : 54062622725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Criminal psychology is the study of , which includes Personality, Attitude, Physiology, Learning, Motivation.
Options :

1. # Crime spot analysis

2. % Criminal behavior

3. # Political influences

4. % Report of psychiatrist

Question Number : 165 Question Id : 54062622725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 166 Question Id : 54062622726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It is important to understand the of criminals as it enables us to describe, explain, predict and control such behavior.
Options :

1. # jurisdiction

2. ® behaviour

3. % psychology

4. ¥ health

Question Number : 166 Question Id : 54062622726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 167 Question Id : 54062622727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Juvenile Justice is a legal framework which defines justice for juvenile under the:
Options :

1. % Indian Law Code

2. # Indian Penal Code

3. % Indian Law System

4. ¥ Indian Legal System

Question Number : 167 Question Id : 54062622727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 168 Question Id : 54062622728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
means a crime committed by youth who is under the age of 18 years.
Options :
1. ¥ Juvenile delinquency
2. % Juvenile protection
3. ® Juvenile adequacy

4. % Juvenile literacy

Question Number : 168 Question Id : 54062622728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 169 Question Id : 54062622729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to research methodology, data may be grouped into four main types based on methods for collection. Which of the following is NOT
one of these types?

Options :

1. # Observational
2. ¥ Extravagant
3. % Simulation
4. % Derived

Question Number : 169 Question Id : 54062622729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 170 Question Id : 54062622730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Intellectual property rights are a common type of for those who create.
Options :

1. % certificate to owner

2. % distribution license

3. ¥ legal IP protection

4. # legal sale deed

Question Number : 170 Question Id : 54062622730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 171 Question Id : 54062622731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The purpose of intellectual property rights is to encourage new creations, including technology, artwork, and inventions, that might improve:



Options :

1. # Research potential

2. % Research group growth
3. % Knowledge growth

4. ¥ economic growth

Question Number : 171 Question Id : 54062622731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 172 Question Id : 54062622732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is an illegal act involving the environment, wildlife, biodiversity and natural resources.
Options :
1. # Animal crime
2. % Juvenile crime
3. % Environmental crime

4. % Forest crime

Question Number : 172 Question Id : 54062622732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 173 Question Id : 54062622733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an environmental crime?
Options :

1. # Tllegal mining

2. % Tllegal fishing

3. # Tllegal logging

4. ¥ Tllegal film making

Question Number : 173 Question Id : 54062622733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 174 Question Id : 54062622734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is the ability to find, evaluate, organize, use, and communicate information in situations requiring decision making, problem
solving, or the acquisition of knowledge.

Options :

1. ¥ Information literacy



2. % Social literacy
3. % Spiritual literacy

4. % Environmental literacy

Question Number : 174 Question Id : 54062622734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 175 Question Id : 54062622735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a component of law enforcement?
Options :

1. # Police

2. % Courts

3. % Correctional homes

4. % Maintenance

Question Number : 175 Question Id : 54062622735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 176 Question Id : 54062622736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is the activity of some members of government who act in an organized manner to enforce the law by
discovering, deterring, rehabilitating, or punishing people who violate the rules and norms governing that society.

Options :

1. ¥ Law enforcement

2. # Security enforcement

3. ® Governance enforcement

4. % Governed ordinance

Question Number : 176 Question Id : 54062622736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 177 Question Id : 54062622737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Penology is defined as "the study of the of crime and management," and in this sense it is equivalent with corrections.
Options :

1. # punishment; law



2. # law; prison
3. % punishment; prison

4. # law; order

Question Number : 177 Question Id : 54062622737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 178 Question Id : 54062622738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
may involve fraud (cheque fraud, credit card fraud, mortgage fraud, medical fraud, corporate fraud, securities fraud.
Options :
1. # Security Crime
2. ¥ Financial crimes
3. % Intelligence crime

4. * Juvenile crime

Question Number : 178 Question Id : 54062622738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 179 Question Id : 54062622739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is crime committed against property, involving the unlawful conversion of the ownership of property to one's own personal use and
benefit.

Options :

1. ¥ Financial crime
2. # Social Crime
3. # Media Crime

4. % Juvenile Crime

Question Number : 179 Question Id : 54062622739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 180 Question Id : 54062622740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Securities fraud, also referred to as stock or investment fraud, is a type of serious that can be committed in a variety of forms but
primarily involves misrepresenting information investors use to make decisions.

Options :

1. % upper class problems



2. * blue-collar crime
3. ¥ white-collar crime

4. # juvenile crime

Question Number : 180 Question Id : 54062622740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 181 Question Id : 54062622741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Security for information technology (IT) refers to the methods, tools and personnel used to defend an organization's .
Options :

1. % Analog assets

2. ¥ Digital assets

3. % Instrumentation assets

4. ® Physical assets

Question Number : 181 Question Id : 54062622741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 182 Question Id : 54062622742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
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The goal of IT security is to protect these assets, devices and services from being disrupted, stolen or exploited by unauthorized users, otherwise
known as:

Options :

1. # Defence actors
2. % Theft actors
3. # Best actors

4. % threat actors

Question Number : 182 Question Id : 54062622742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fShg Taey
2. % YT Tqey
3. % 9% Uacyd
4. ¢ Y Taey

Question Number : 183 Question Id : 54062622743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The entails asset and personnel protection, thus ensuring a quick recovery of operations in the event of a disaster.
Options :

1. # Business Continuity Protection (BCP)

2. % Business Continuity Planning (BCP)

3. # Business Cyber Planning (BCP)

4. % Business Consumer Planning (BCP)

Question Number : 183 Question Id : 54062622743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

o Hufxy iR Hifal Bt qRem M 8, 39 UHR I8 el &1 RUfS & Tarea &1 ala I: wiftg gRfyd sxar gl

Options :

1. % OR FRARAr TR&0T (BCP)
2. ¢ AR ¥Rl Il (BCP)
3. % R 3R ol (BCP)
4, % HOR IUHIGI TS (BCP)

Question Number : 184 Question Id : 54062622744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Everyone, by virtue of her or his humanity, is entitled to certain:
Options :

1. % Meaningful rights

2. % Mindful rights

3. ¥ Human rights

4. ¥ Juvenile rights

Question Number : 184 Question Id : 54062622744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S fad (Wl I1 g U= A & YR R FAf¥a BT BRI BT ]
Options :

1. % Frfep SffefpR

2. % A SHYBR

3. ¢ HHEAIUHR

4. % TR IHUBR

Question Number : 185 Question Id : 54062622745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Over time, people acquired through their membership in a group such as a family, indigenous nation, religion, class, community or
state.

Options :

1. # livelihood and earnings

2. % responsibilities and citizenship
3. * rights and citizenship

4. ¥ rights and responsibilities

Question Number : 185 Question Id : 54062622745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YAy & 1Y, AT U URAR, Wexl Y, yH, 97, Gqar a1 Iy ol wig ® U+ Iawidl & Jiegd ¥ T R gl
Options :

1. % JoNfaswT 3R 3mHe

2. % ITRSIAE 3R ARSI

3. % JFIBR SR ANRET

4. ¢ PR 3R IWRaU@

Question Number : 186 Question Id : 54062622746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India has a(n) as well as bodies to look into issues of human rights.
Options :

1. # cooperative societies

2. # public benches

3. % dependent judiciary

4. ¥ independent judiciary

Question Number : 186 Question Id : 54062622746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TgHRI giafd

2. % Al grule

3. % 3T =mauTferat

4. ¥ XGdd rUTieInT

Question Number : 187 Question Id : 54062622747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is an agenda for manipulating the built environment to create safer neighborhoods.

Options :

1. # Cyber Protection Through Environmental Design (CPTED)
2. ¥ Crime Prevention Through Environmental Design (CPTED)
3. # Crime Prevention Through Ecological Design (CPTED)

4. # Crime Prevention Through Environmental Defense (CPTED)

Question Number : 187 Question Id : 54062622747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 QRf&rd TSI o9 & I£=d ¥ fAftia uRkfRufa § Heradgdes Suwn &t Ue srfad g

Options :

1. % YRR fSHITg o HIeH ¥ HIgaR TR (AR U 3 TTaRRHACH [$WIS (CPTED))

2. ¢ URARN FESIST & H1end ¥ SoR1Y RN (h1gH d=H 3 THarRAcd fS8 (CPTED))

3. % URfRUfd fESTe= & arerd I SiuRry (IR (shred fIdRH 3 Shidifvidhd fSSE (CPTED))
4. % URARN QR&M o T1eH ¥ SR1Y AR (h13H fUa=H 3 THarRycd f&thd (CPTED))

Question Number : 188 Question Id : 54062622748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Crime Prevention Through Environmental Design (CPTED) originated in America around , when urban renewal strategies were felt
to be destroying the social framework needed for self-policing.



Options :
1. ® 2000
2. % 1990
3. % 1960
4. % 1980

Question Number : 188 Question Id : 54062622748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 2000
2. %1990
3. ¥ 1960
4. % 1980

Question Number : 189 Question Id : 54062622749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The word ‘Victimology’ was coined in the year by a French Lawyer, Benjamin Mendelssohn.
Options :

1. % 1947

2. % 1957

3. % 1967

4. % 1987

Question Number : 189 Question Id : 54062622749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TfafdeHIaST Wearact ay H T IR debiel, SSEA Heard R Uiduriad fosam mar o

Options :



1. ¥ 1947
2. % 1957
3. % 1967
4. % 1987

Question Number : 190 Question Id : 54062622750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mostly women, children, elderly, and the poor and the powerless are victimized at a significantly higher rate because of their relatively:
Options :

1. % strong position (domination)

2. ¥ weak position (subordination)

3. # less knowledge about law

4. # less possibility of being exposed to the police

Question Number : 190 Question Id : 54062622750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3O 3rdeHa F HRUT 3B Afgarsh, s=l, o, Td TR 3R AfFEH Al & Hifsd 81 o1 R rafdie St gt 71
Options :

1. % Tofd fRfe (o)

2. ¢ HAVR FRUF (3reftam)

3. % B Had HH THBRI

4. % Ufr & A 3114 &1 HH HUTGT

Question Number : 191 Question Id : 54062622751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Economic Offences not only victimize the individuals with pecuniary loss but can also have serious repercussions on the:
Options :

1. % State's economy



2. # Economic autonomy
3. ¢ national economy

4. ¥ District's economy

Question Number : 191 Question Id : 54062622751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M SRTY 7 Haa Afaadl B Md JHAH Ugdld g Sfed R+t 1R gHTa 16 T 7
Options :

1. % ISD 1 Sfraw

2. % 3M1ffep A

3. ¢ P Sfcgawl

4. % ol BT Sfeuawal

Question Number : 192 Question Id : 54062622752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Economic offences, such as counterfeiting of currency, financial scams, fraud, money laundering, etc. are crimes which evoke serious concern
and impact on the:

Options :

1. # Nation’s diversity and flexibility
2. # Nation’s dignity and governance
3. % Nation’s diversity and defense

4. ¥ Nation’s security and governance

Question Number : 192 Question Id : 54062622752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ffep SrRTY, SR b Tepeht HaT, faxiia dieTd, eRatys), ¢ 2Ne Safe T8 S1oRTy & Sl IR TR fefar 3R wHTg OeT vd € |
Options :

1. % 7Y 1 fafaydr ofiR IgRar

2. % PTG IRAT 3R 2R omedt



3. % Iy P Ry o e
4. ¢ Y BT Y& R YT YurTel!

Question Number : 193 Question Id : 54062622753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IT security governance is the system by which an organization directs and controls IT security adapted from:
Options :

1. % ISO 38500

2. % IS0 38555

3. % ISO 38588

4. % 1SO 38000

Question Number : 193 Question Id : 54062622753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3.2 (IT) JR&M TR a8 YUTal! § o gRT $ig Gl T BT MTS.SL. (IT) JR& o1 FeRid 3R Fafd sar gl
Options :

1. ¥ 1SO 38500

2. % ISO 38555

3. % ISO 38588

4. % 1SO 38000

Question Number : 194 Question Id : 54062622754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
State whether the following statements are True or False.

L. IT security governance and IT security management is the same.
II. IT security management is concerned with making decisions to mitigate risks.

Options :
1. #* 1. True; II False



2. ¥ I. False; 1I. True
3. ® 1. False; II. False
4. # 1. True; II. True

Question Number : 194 Question Id : 54062622754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1L.9d; 11 9
2.9 138 11 9
3. % 138, 11 8d
4, % 1.9, I1. 949G

Question Number : 195 Question Id : 54062622755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

are rights inherent to all human beings, regardless of our nationality, residence, sex, sexual orientation and gender identity, national or
ethnic origin, color, religion, language or any other status.

Options :

1. ¥ Human rights

2. % National rights
3. ¥ Citizenship rights
4. % Domicile rights

Question Number : 195 Question Id : 54062622755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Tt & forg safAfga e B
Options :

1. ¢ GHANYBR

2. % P SHUPR

3. % ANIRGT HIBR

4. % 3Ny SfIHR

Question Number : 196 Question Id : 54062622756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

We are all equally entitled to our human rights without:
Options :

1. ¥ discrimination

2. # secularization

3. % privatization

4. ® registration

Question Number : 196 Question Id : 54062622756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fopadt & o1, 50 I 99 U T 309 AHAIYPR] & gPeR & |
Options :

1. ¥ HGHTd

2. % yHHRYeE

3. ® fAGiiopRol

4. % USlipl

Question Number : 197 Question Id : 54062622757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a form of Human right?



Options :

1. # Right to equality

2. # Right to Freedom

3. ¥ Right for exploitation

4. # Right against exploitation

Question Number : 197 Question Id : 54062622757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed fdewedl & 9 & 1 AHaYSR &1 Th U 81 o7
Options :

1. % GHAEC BT 3fTBR

2. % AT BT fUDR

3. ¢ QYU 6T SHfUBR

4. % QYU P 935 SHUPR

Question Number : 198 Question Id : 54062622758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The aim of human rights instruments is the protection of those to violations of their fundamental human rights.
Options :

1. ¥ vulnerable

2. % miserable

3. #* misleading

4. # deceptive

Question Number : 198 Question Id : 54062622758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




Question Number : 199 Question Id : 54062622759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Every human being possesses inherent and equal worth, regardless of disability. This refers to following human right:
Options :

1. # Right to equality

2. % Right to dignity

3. # Right to mobility

4. % Right to vulnerability

Question Number : 199 Question Id : 54062622759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % M BT SHYBR

2. ¢ TIRAT BT HYBR

3. % TfAReId &1 HYDPR

4. % AT BT HTYDHR

Question Number : 200 Question Id : 54062622760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Elderly persons; HIV positive persons and AIDS victims; Gypsies and lesbian, gay and transgender people are entitled to:
Options :

1. # Achieve education



2. # (Citizenship
3. ¥ Human right
4. # Juvenile right

Question Number : 200 Question Id : 54062622760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % feremonfay

2. % AR

3. ¢ HHAIUBR

4. % {HRR AYBR



